A _ B _ C G H

Item|Part No. Description QuaRemark

1 [940304497L0GO LABEL,TYPE 2 010512001 1

2 519287001 | HOUSING SUPPORT 1

3 303587001 PLASTIC HOUSING&SPPORT&COVER 1

4 1940140031 [SENSOR MATIC TAG 1

5 |[230247001[MOTOR ASS'Y 18V-DC 1

6 [220036004|IMPACT DRIVE GEAR BOX ASS'Y| 1

7 (301216012 |GEAR CASE&BIT HOLDER ASS'Y | 1

8 [940221077|WARNING LABEL 1

9 |670030004|WASHER,0D7.2X1D4.1X1.0MM 4

10 |660133015|SCREW M4.0%20 4 ﬁu\‘

S

11 |562393001| RUBBER CAP 1 &

12 |270061002 |[SWITCH ASS’Y 18V-IC 1

13 519288001 |[HOUSING COVER 1

14 |940488017|RATING LABEL 1

15 [660024049 |ST SCREW M4.0x16 T-15 | 6

16 [341289002|W/SS F/R BUTTON 1

17 |660031011 [STSCREW M3.5X16 T-10 2

ACCESSORY

18 |670772001]  Socket kit |1 ] _

BLACK WIRE,CONTACT WITH
NEGATIVE POLE OF MOTOR

RED WIRE,CONTACT
ANODE OF MOTOR

MOTOR ASSEMBLE&SWITCH ASSEMBLE

CUSTOMER MODEL NO.: BIW180G

TTI MODEL NO: 010557006
DESCRIPTION: 18V RYOBI IMPACT
WRENCH

PREPARED BY: Huang xing
ISSUED DATE: Dec.09,2010

G _ H




